g your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completin

50, will be treated as malpractice.
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1 a
b.
2 a
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3 a
b.
4 a.
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5 a
b.
6 a.
b.

Sith Semester B.E. Degree Examlnatmn, June/July 2023
Hydrology and Irrlgatl'on Engmeermg

i

With neat sketch, explain the engmeerm g representatlon of. the hydrologlcal cycle. (10 Marks)
Theissen polygon constructed for a network of the rain gauges in river basin yielded theisson
weights of 0.10, 0.16 2, 0.11, 0. 09 0.08, - 0 07, 0.11, 0.06, 0.10. If the rainfall

158, 168 and 1501 fespectively Determined the éverage depth rainfall by theisson mean
and arithmetic me 1 rnethods also determme the value of surface runoff at the basin outlet

express the: ‘anSWer in million cubic meter. (10 Marks)

; OR
Explain with neat sketch how its amount is measured using Symon’s ramgauge (10 Marks)
List and explain the types of pre01p1tat10n A ( (10 Marks)
Module:2

(1) Explain with neat sketch the measurement using class A pan (06 Marks)
(i) Write the Rohwer s formula and explain‘its term. (04 Marks)
Briefly explain the. measurement of Evapo-transpiration. (10 Marks)
‘ - OR
ité S Actor affecting. ("’ (10 Marks)
Write a short notes on: 1) AET (1) PET (10 Marks)
Module:3

“ Define hydrograph.“With a neat sketch, explain components parts of hydrograph. (10 Marks)

Derive the UHG forthe catchment of 200 km® if the following discharge was observed in
stream as a 6'hr rainfall storm. The. base flow can be assumed to have increase linearly.

Time 0] 36| 9 [12]15]18]21]24]27
6 hr discharge (m’/s) | 5 | 1107 265|230 | 165 [ 30| 95| 70| 55|50
Base flow (m’/s) S4=10 | 15 | 20 | 25 |30 |35|40 (45|50

(10 Marks)
L ¢ OR
Explain the rainfall runoff relationships using regression analysis. (10 Marks)
Derive the S-curyé:for the 4 hr UHG given below:
Time (Hr) 0|4 |8 [12]16]20]24 |28
Ordinates in4 hr UHG (m’/s) [ 0] 10[30[25/18]10][ 5 [ O
. . (10 Marks)
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Module-4 i, A }' §
A water course has a culturable command area ot}(lZO"O hectares. The intensity of irgigatiﬁh
for crop A is 40% and for B is 35% and both the, tops are rabi crops. Crop A has-a Kore
depth of 10 cm and kore period of 10 days and crop B has kore depth of 16 ¢m and kore
period of 15 days. Calculate the discharge of water course. , (10 Marks)
What are Duty, Delta and Base period? Explain factors affecting duty of waters. (10 Marks)

o

A channel is to be design for irrigating 5000 hectares in Kharif crop and 4000 hectares in
rabi crop. The water requirement for Kharif and rabi are 60 cm and 25 cm respectively. The
kore period of Kharif is 3 weeks.and for rabi is 4 weeks. ‘ Zug:termine the discharge of the
channel for which it is to be designed. (10 Marks)
What is flow irrigation and lift irrigation? Explain the'B (10 Marks)

Module-5
Define canal. Exgmlhiﬁ‘

) lain ifferent types of canal based on alignment. (10 Marks)
Find the section’and maximum discharge of‘a'channel with the following data:
Bed slope = 1.ins5000 A\v. 2
Lacey’s silt factor = 0.95

Side slope = 151

(10 Marks)

r "
i % :
e

L OR d
Define reservoir. With a neat sketch, explain zones of storage in a reservoir. (10 Marks)

i

Design an irrigation channel with the following data:

i
L

(i)  Full supply discharge ;'36 cumex
(i) Rugosity coefficient, N = 0.0225
(ii) CVR (m)=1,

(iv) Bed slope =

5000

(10 Marks)

i
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